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lnstructions :

1. Questions on PART - A are compulsory.

2. Answer arry five questions from PARI - B.

PART _ A

1. Fill in the blanks :

tf

1x 10:10

(b) A computer can be classified inls 
--generations.

(c) LrNMC stands fot

(d) URL stands for
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e. (a)

(b)

Write three differences between router and
gaieway 3

What afe cornmunication channels in
networking ? List two transmission media.

70(w)

10.

2+4:6

What is a program ? Explain about the each phases
of a program development cycle. 2+7:9.

96/IT:301/IT (6)

;:l;.r..\,
i "':,.,.'\ -'t.r.'tr
\ v'i
"r li;i .j

?i il-r
i i:i
I :l':, :::

, j:,
I ilt

r' ,.-' ,

.l -\ 
,'

-/ .:.1,

;t'itii ...,.r'


